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Hin 245 A4 (UNR M) 425K A5 50EK A6 54FK A7 51K
A= %24 =8 = X5 =H HE X4 =4 A= X5 =8 RE X4 =4
A201 ANEE 0| A401 5ED] 13,200 | A501 fEsEC 22,000 | A601 ANERE 4,400 | A701 SAS 6,600
A202 IANBE 0] A402 {B=D 13,200 As502 [FETS 22,000 | A602 [FESS 22,000 | A702 [FETS 22,000
A203 ANEE 0] A403 5ED] 13,200 As03 fEsEC 22,000 | A603 fHZEC 22,000 | A703 fEzEC 22,000
A204 IANBE 0] A404 [FED) 13,200 As504 [FETS 22,000 | A604 SABE 4,400 | A704 SABE 4,400
A205 ANEE 0] A405 5ED] 13,200 | As05 fEsEC 22,000 | A605 SAHE 4,400 | A705 SAHE 4,400
A206 ANSBE 0] A406 [FED) 13,200 As506 [FETS 22,000 | A606 SASE o] A706 SABE 0
A407 INRE o] As07 fE=EC 22,000 | A607 SASE 0| A707 SABE 0
A408 2ABE o] As08 fE=c 22,000 | A608 SARE 0| A708 SARE 0
A409 2ABE 0] A509 LN =] 4400 ] A609 SASE 0| A709 SABE 0
A410 CABE o] As10 ANTEE 4400] A610 SARE o] A710 [N 0
A411 SARE o] A511 LN =] 4400 ] A611 SASE o] A711 SABE 0
A412 CABE o] As12 ANTHE 4400 ] A612 SARE 0] A712 [DN:1): 0
A3(NICU,GCU) 33EK A413 SARE o] A513 ANEE 4,400
BE X5 = A414 ANFER 4,400] A514 ANTEE 4,400
NICU 9K 0 A515 LN =] 4,400 | A520 E=EB 25300 | A525 {E=B 25,300
GCU 24K 0 A516 [FET:] 25300 | A521 [FET:) 25300 [ A526 =B 25,300
A517 =8 25300 [ A522 E=EB 25,300 [ A527 {E=B 25,300
A518 [FET:] 25300 | A523 EED 38,500 [ A528 =B 25,300
A519 [EET:] 25,300 [ A524 HE=B 25,300 | A529 E=B 25,300
BiRil (o211
B3(EH) 265k B5 54K B6 54Lk B7 52Fk ERICU 18}k
A= =34 =5 RE =323 =5 BE RS |=H RE E5 =5 RE =823 =4
B301 E=C 22,000 | B501 [N 4,400] B601 ANEE 4400] B701 {E=0 22,000 | ERICU 185K 0
B302 fE=c 22,000 | B502 fE=EC 22,000 ] B602 fE=EC 22,000 ] B702 {E=C 22,000
B303 fE=c 22,000 | B503 fB=C 22,000 | B603 [EEY 22,000 | B703 faZEC 22,000
B304 E=C 22000 | B504 | 3AME 4400 | B604 | 3AEE 4400 | B704 BEc 22,000 _
B305 {E=C 22,000 | B505 SAHE 4400] B605 SAHE 4400 | B705 SASE 4,400 SCU 18k
B306 [EES) 22,000 | B506 SABE 0] B606 SAHE 0| B706 SABE 4,400 HE X4 =4
B307 {E=C 22,000 | B507 [N o] B607 SAIE 0] B707 SABE 0 Scu 18FE 0
B308 fEEA 27,500 | B508 SAHE 0] Beos SABE 0] B708 SASE 0
B309 fE=A 27,500 | B509 SAEE 0] B609 SABE o] B709 AR 0
B310 | 4A#E 5500| B510 SARE o] B610 SARE 0] B710 SABE 0 _ 1
B311 ANEE 5500 | B511 CAHE o] B611 SAHE 0] B711 SABE 0 C4 (Egst) 36 5%
B331 [FE3 0] B512 SAHE o] B612 SABE 0] B712 SASE 0 RE =% =5
B332 [EE3 0 B713 AR 0] cao1 B=E 17,600
B333 B= 0 C402 {E=E 17,600
B334 = 0 C403 CAHE 0
B335 B= 0 C404 ANEE 5,500
B336 B=E 0 C405 SAHE 0
B337 B= 0 C406 SAZE 0
B338 B=E 0 Cc407 SAHE 0
B339 B= 0 C408 SAZE 0
Efm
E3(ICU-HCU) 18k E4 (B &)455K ES (51#1) 455K E6 (M- TEHR) 455K E7 (#%A) 455K
BE X5 =3 RE X5 =8 AE K5 =4 RE X5 =¥ ARE =82 =X
ICU 105 0] Ea01 E=A 27,500 | E501 fE=A 27,500 | E601 fE=A 27,500 | E701 A=A 27,500
HCU 8K 0| E402 ANEE 0] E502 ANEE 0] E602 ANBE 0| E702 ANEE 0
E403 [YN: - o] E503 ANERE 0] E603 ANERE 0| E708 ANTRE 0
E404 ANEE 0] E504 ANEE 0] E604 ANBE 0| E704 ANEE 0
E405 HE=A 27,500 | E505 {HEA 27,500 | E605 fH=EA 21,500 | E705 HEA 27,500
E406 E=EA 27,500 | E506 {HEA 27,500 | E606 E=EA 27,500 | E706 HEA 27,500
E407 fE=A 27,500 | E507 {HEA 27,500 | E607 fH=EA 27,500 | E707 HEA 27,500
E408 E=EA 27,500 | E508 {HEA 27,500 | E608 E=EA 27,500 | E708 HEA 27,500
E409 [ON: = 5,500 | E509 ANERE 5,500 | E609 LN 5,500 | E709 ANERE 5,500
E410 AANBE 5500] E510 ANBE 5500 ] E610 ANBBE 5500] E710 ANEE 5,500
E411 [ON: = 5500 E511 ANERE 5500 | E611 LN 5500 ] E711 ANERE 5,500
E412 AANBE 5500] E512 ANBE 5500] E612 ANBBE 5500] E712 ANEE 5,500
E413 [ON: = 5500] E513 ANERE 5500 | E613 LN 5500] E713 ANERE 5,500
E414 AANBE 5500] E514 ANBE 5500] E614 ANBBE 5500 E714 ANEE 5,500
E415 AAEE 5500 ] E515 AABE 5500 ] E615 AAERE 5500 | E715 AABE 5,500
FiRiR
Fa(A—Meu3—) 335k F4 (R 455k F5 (5151 FLER) 455k F6 (&) 455k F7 GBIR) 455k
A= =824 =5 RE =5 =5 WRE =83 =4 AE E5  |=H RE =824 =8
F301 fH=EA 27,500 | F401 BE=EA 27,500 | F501 {HEA 27,500 | F601 H=EA 27,500 | F701 HEA 27,500
F302 fEEA 27,500 | F402 [ON: = o] Fs502 ANERE 0] F602 LN 0| F702 ANERE 0
F303 fH=EA 27,500 | F403 AANBE o] F503 ANEE 0] Fe603 ANBE 0| F703 ANEE 0
F304 fEEA 27,500 | F404 [ON: = o] F504 ANERE 0] F604 LN 0| F704 ANERE 0
F305 ANRE 5500 ] F405 BE=EA 27,500 | F505 {HEA 27,500 | F605 H=EA 27,500 | F705 HEA 27,500
F306 ANEE 5500 | F406 E=EA 27,500 | F506 fHEA 27,500 | F606 fE=EA 27,500 | F706 HEA 27,500
F307 ANRE 5500 | F407 [FETN 27,500 | F507 BEA 27500 ] F607 [FETN 21500 | F707 [EEIN 27,500
F308 ANEE 5500 | F408 E=EA 27,500 | F508 fHEA 27500 | F608 fE=EA 27,500 | F708 HEA 27,500
F309 ANSBE 5500 ] F409 ANBE 5500 ] F509 ANBE 5500 | F609 ANBBE 5500 ] F709 ANEE 5,500
F310 ANEE 0] F410 [ON: = 5500] F510 ANERE 5500 ] F610 ANERE 5500 | F710 ANERE 5,500
F311 ANSBE 0] F411 ANBE 5500] F511 ANBE 5500 ] F611 ANBBE 5500] F711 ANEE 5,500
F312 fE=EA 27500 | F412 [ON: = 5500] F512 ANERE 5500 ] F612 ANERE 5500 | F712 ANERE 5,500
F413 AANBE 5500] F513 ANBE 5500 ] F613 ANBBE 5500] F7183 ANEE 5,500
F414 [ON: = 5500] F514 ANERE 5500] F614 ANERE 5500 | F714 ANERE 5,500
F415 ANEE 5500] F515 ANBE 5500 ] F615 ANBRE 5500] F715 ANEE 5,500




